tf?b%#tﬁ%%f%f%%ﬂﬁﬁﬁﬂﬁ%—%

s 4fu35E5A8A~
— <B{fir:M{>
_— HERBEM BE | BA80
BREHED £ 870
EERAEES" 2 -
=] 150
s Ser s
150
e 4x6 R Mﬁg 420
RS [ES 8,960
BT | & 300
=k ) L] 23
% T GaF) (FL—) :féi o
o — 3 RHE6R | 4% 300
SEEEE | ¥ 150
T3 (& 58 L 15
ES X1 1770
NG L) 5T o
AAE AR kS LI
) | & 870
e e 50
FOAFR—F K- 108
s a 100
FaTS LRI R (BHITE) as 1
F9F5AF o 29
F—5—54F | 51 420
B [Fur—FRUI AR za oo
O i YDA e T 250
2 |rworsar 0. SkW= o
| kW o
7 /)ERARY S l = 30
FELEE (ERkWioF) £ 2229
XFLAAEY I F—TLa—F—* = 150
AT NFARTTL—F— 12 170
FOINF—FAF5—TLa—F — E L0
3SERURA7OF R e 1,770
TAYLRe 70k I =2
x [IXTH—=A70F> jch 2670
= 25 LAa> T o ——wA(7aky ES L.770
%= TAFIvI<vA7ako* ks 2.350
% QAR AI> R+ = 230
S IR5or a0
=L [ES 22?8
hA%E e = i
7R 0
7/ R=-E>FL77-71La> LER ER[KWE2S) = 150
E5 AR | 8 8,960
®E [REEE (1637) S
Ky . | 8] 7,160
YENDRBEE. ZENERR = 2500
<ZOHBHEEE> [
HEERET o
P 7 U N2l RERH 5B | RRH
E&75FE7/ e 220
Fr3'— B/ R g 249
20kw |*5|IéEl 20
o MBEE 40kW o3
EAEM = 25
PR, V4= =2
%ﬁf_ BEHRA T 0 79— = PN 10
HEE |8 530

XARFBED 7 7O 1733 AT LR O = S R
e et FAROCFHEEI OO 10— cREDREE—5 — 4.




